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1.
Barcelona is a noisy city with its historic and touristic
places. The population in Barcelona is nearly a million.
It is a crowded city but people like visiting this city very
much. Barcelona is very popular with its football team.
This city has a lot of museums, shopping malls and
historical places to see. Barcelona is more beautiful
than the Madrid and it is safer than other cities. It has
many tourists in all seasons. Transportation is easy in
Barcelona.
Which of the following is NOT correct according to the text?
A) Barcelona is a noisy city. B) People like visiting Barcelona.
C) There is no museums in Barcelona. D) It is safer than the other cities.
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2-6: For these questions, choose the 4. Lola  :----7
best option to fill in the blanks. Harris : lts streets are usually crowded and
busy. There are a few skyscrapers,
too. There is always a traffic jam
2. Pinar De---? there.
Marlon I guessitis running after a cat. A) Do they sell new clothes in downtown
A) What is that dog doing B) Where do you live
B) What do you usually have for dinner C) Where is your hometown
C) Where do you keep your dog D) How is your capital city
D) Which one is faster, a cat or a mouse
3. Nihal :----7 ) )
5. Bryan : Where is Bob? | can’t see him
David : I'm going to the kiosk to buy some nowadays.
things for my dad. . . ' .
Veronica : He is in the office. He is very busy e
A) Where is your father now and he - - - - now. §
B) Do you often buy t-hlngs from that shop A) is sleeping §
C) Where are you g.omg | B) is working .?j
D) Why are you buying this C) s resting E
D) is washing =)
()
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6. Sarah :----? Answer the questions (9-11) according
Tim - No, it isn’t. to the table below.
A) Which one is slower, a turtle or a snake | AGE | HEIGHT | WEIGHT |
B) Is your laptop faster than your mobile phone ' Meg | 13 || 160 || 40 |
C) What is faster than a train | Jonathan || 15 ” 164 || 52 |
D) Are you younger than your cousin | Chris || 12 ” 150 || 45 |

9. Jonathan is - - - - than Meg.
A) younger B) thinner

7. Choose the best option to complete the C) older D) shorter

sentence.

10. Chris is - - - - than Meg.

A) taller B) thinner
C) shorter D) older

He is - - - - now because it is very dirty.

A) washing the car

/4

B) waiting for the bus
C) studying for the test
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D) watching the film
11. Jonathan is - - - - than Chris.

A) shorter B) heavier

C) younger D) thinner

8. She is feeding the cats on the street at the
moment.

Which of the following pictures matches
with the sentence?
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